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QUADRATIC FUNCTIONS .75
STANDARD, FACTORED & VERTEX FORMS =3
REVIEW

Standard and Factored Form

1. Write the following in_Standard Form: (2 marks each) A .
a. f(x)=({x+1)(3Bx-2) b. f(x) =-2(x+5)*+13
S \2x-&x + 5% -2 - 72(x ¥ S)x +5) ¥ (%
- 12R T -5% -2 T e X - 20K =37
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2. Write the following in SFactored Form: (2 marks each)
a. f(x)=4x2-25 b. g(x) = (8x — 1)(3x — 10)

=(2x - 8)ex v B) iz a e B e d G enn

q--15
wm= 21 .
3. Find the roots of the equation (use any method). (10 marks)
W 2 a. ¥*—13x+22=0 b. 2x% + 18 = 12x
- T 2 .
$0x) = (x - 10)(x = 2) = 2x —"2><+Y%'>
7
=2(x*-¢x + 9
(x =11 x=2) 2 (x"-6

=2(x = 3)Mx-3)
X =3 X =73

c.2+7x = 4x? d. x% + 4x — 45
ke -2 < (x =5 )(x +9)
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x = 0,25 x=-72
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Standard and Vertex Form
1. For each quadratic function: (3 marks each)
a. ldentify the coordinates of the vertex
b. State whether this value is a maximum or a minimum
State the x value where this maximum and minimum occurs

C.
a. y=(x+4>-3 ; cH—(x-6°-1
Hinionoe T errex +(6,-1)
(-l—(> M’&X\'N\\)\r-\
b. y=7x? N (6‘)
vertex - (O )o)
.- g Minimuowa
Lo X=(0)
s o= 2. Write each quadratic function in the form y = a(x — h)? + k (3 marks each)
a. y=x2—-8x+19 Ccaw\\)\e,&\ r\s-ﬁ"‘\u
‘ 50\u.ow~@

= (x"=¥x )+ 19

= (X¢—8x+\é-l6§+\q
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b. ¥y =3x2—12x+40
= 3(x*- 1 x) +uo
. 3(x¢—L\x & "’\> LY 06
-2 (xF-ax ra) + 28
= 3(x —2)* +18

c. y=——;-x2+8x—6

= "'7|_' (XQ“L{X)_ b
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3. Solve each equation using the quadratic formula. (2 marks each)
a. a2-7a+12=0 - ' b.6x2=5x+1 a
) DL -1 (00D
X = 2(1)
X = - J'_—{_ﬂ —8 s
2
. ———
X = ;7:_“__1—-%
2
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X = T + X = _-7 -\
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=3
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X =
2(6)
.5 *fza 135
= 2 - yYyq
\ 2
X = 5+ 7 = 5, l
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¢ }7 4. Without finding the roots, determine the value of the discriminant and
the equations as having one of the following: b) \Dl ~ YWl

-2 equal real roots o\ bt -l = 3L -2g
-2 different real roots (- 2\* . ‘-\(\\&LB) =\b

-No real roots

=4-q2
a. x2—-2x+23=0 _
==3% L2- daQ
b. 5x2—6x+1=0 = ~b
¢ 3x2=T7x+10=0yp bS CD: (,7)1-"'\('53(\63
reohS =4 Q=120

5. Determine the equation of the parabola. (4 marks) = !\
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6. Determine the i) Roots, ii) Axis of symmetry, and iii) Vertex for

‘37 f(x) = x? — 7x + 12. (5 marks)
4 'z (X’S) (X"‘-\) 3~S1—7(3.S-)¥\Z
oo\ {?;51i?; } 12.25 = 245 +\2
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